
Time: 10 Minutes Paper Math 5 Total Marks: 10

4th Month, 1st Week, 1st Day Syllabus: Unit 5: Ex # (a, b, c, d, e, f)

Q.No.1 Encircle the correct answer from the following choices. (5)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

i. 34 km = _________ m.

(a) 340 (b) 3400 (c) 34000 (d) 340000

ii. 74 km 930 m  = ________m.

(a) 74930 (b) 74900 (c) 7490 (d) None Ãð7

iii. 1970 m  = ________km _______ m.

(a) 1 km, 970 m (b) 1 km, 97 m (c) 19 km, 70 m (d) None Ãð7

iv. 67 m = _______ cm.

(a) 670 (b) 6700 (c) 67000 (d) 670000

v. 5890  m  = ________km _______ m. »»»»¬¬¬¬››››ZZZZWWWWìììì:::: 49 ZZZZzzzzgggg 42

(a) 5, 890 (b) 98, 90 (c) 5, 980 (d) 59, 80

Q.No.1.   Convert 650 m 46 cm into cm: (5)

vvvv¢¢¢¢aaaaÃÃÃÃvvvv¢¢¢¢aaaa~~~~$$$$++++BBBB:::: 46¢¢¢¢aaaa 650 ::::1 ÎÎÎÎZZZZwwww����
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